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REMRX - REMREFRE LI —OLRERE

AR CHIRAE (t)

HE | AEMK | BHK | dETEE
— B A 5 24 (%)

HETZ, THETIRE | THETURE | £EFINE
X B 5,811 290 6, 231 1,572 13,904 62.7
A X 4, 204 0] 4,834 1,127 10, 165 45.9
A BAHT 430 0 469 122 1,021 4.6
AT AET 165 0 148 36 349 1.6
£ FNET 315 0 30 131 476 2.1
F AT 697 0 665 121 1,483 6.7
& =T 0 290 85 35 410 1.8
% 4t Hr 268 0 649 77 994 4.5
EXEH 0| 4,593 2,024 653 7,270 32.8
& &t 6,079 4,883 8,904 2,302 22,168  100.0

TRCHBA=E (t)

HE | AR | EHK | dETEE
— g HA i 2& (%)

THHET 4 MHETURER | HETURGE | RENE
X B M 926 31 913 676 2,546 74. 1
KEHK 592 0 663 461 1,716 50. 0
A HAHET 80 0 103 49 232 6.7
1T AET 39 0 25 24 88 2.6
£ FOET 63 0 1 53 117 3.4
F FOET 152 0 109 70 331 9.6
& =T 0 31 12 19 62 1.8
% 4t Hr 193 0 95 21 309 9.0
EXEH 0 289 113 177 579 16.9
& & 1,119 320 1,121 874 3,434  100.0




BRYVMAZE

(t)

HE | AEHK | BHK | ETEE
— B A 5 24 (%)
THHET 4 MHETIRER | HETRE | RENE
X B 2,372 75 146 228 2,821 76. 5
KiEHX 1,678 0 127 152 1,957 53.0
% BAET 196 0 4 11 211 5.7
{HAET 80 0 0 4 84 2.3
S F0ET 103 0 9 19 131 3.6
FFOET 315 0 6 24 345 9.4
AT 0 75 0 18 93 2.5
% 4t Hr 288 0 30 4 322 8.7
EXEH 0 367 6 175 548 14.8
& & 2, 660 442 182 407 3,691 100. 0
AR (2 (% 5 SR ET (t)
A X NS B
BEENANIE 2 17,179 7, 541 24,720
T IRIB T 8 1,799 903 2,702
R ALIR (2R D AR AT (t)
A X nE#X B
MR ALIE 2 2,793 641 3,434
1V 563 345 908
TR CH IR 1% B EE#ET (t)
KiEHX nE#HX ES
= i 2 561 141 702
SRS (FM) 3,798 1,187 4,985
ERYMNIEIZ{R DR (t)
—— [ #ER B 1
ZERMAE 3,050 641 3,691
% OH 2 1,908 516 2,424
FEHIE4E (FM) 16, 438 4, 364 20, 802

2




